Bid B17-02, HP OEM Toner & Ink Ta	bsheet	The Tree	e House	Carolina	Imaging	Academic	Supplier	CVR C	omputer	Printing Su	pplies USA	Pristore	Services	Beyond To	echnology	WPS Busine	ss Products	Minton	Jones	CD	wg	R&D Co	omputers
HP Toner Number	Estimated Quantity	Unit Each Cost	Extended Total																				
Q5942A	140	\$109.85	\$15,379.00	\$117.00	\$16,380.00	\$108.75	\$15,225.00	\$124.00	\$17,360.00	\$114.47	\$16,025.80	\$114.44	\$16,021.60	\$119.52	\$16,732.80	\$116.70	\$16,338.00	\$120.40	\$16,856.00	\$145.99	\$20,438.60	\$122.00	\$17,080.00
Q5942X	120	\$166.00	\$19,920.00	\$174.00	\$20,880.00	\$164.50	\$19,740.00	\$179.00	\$21,480.00	\$173.20	\$20,784.00	\$173.17	\$20,780.40	\$173.18	\$20,781.60	\$176.41	\$21,169.20	\$182.19	\$21,862.80	\$179.74	\$21,568.80	\$184.00	\$22,080.00
Q5942XD	120	\$332.00	\$39,840.00	\$348.00	\$41,760.00	\$339.50	\$40,740.00	\$377.00	\$45,240.00	\$357.50	\$42,900.00	\$357.48	\$42,897.60	\$346.60	\$41,592.00	\$364.53	\$43,743.60	\$376.06	\$45,127.20	\$371.05	\$44,526.00	\$380.00	\$45,600.00
CC364X	90	\$203.50	\$18,315.00	\$218.00	\$19,620.00	\$201.50	\$18,135.00	\$211.00	\$18,990.00	\$212.27	\$19,104.30	\$212.25	\$19,102.50	\$200.74	\$18,066.60	\$209.12	\$18,820.80	\$223.28	\$20,095.20	\$220.29	\$19,826.10	\$224.00	\$20,160.00
Q6470A	90	\$101.00	\$9,090.00	\$108.00	\$9,720.00	\$100.50	\$9,045.00	\$105.00	\$9,450.00	\$105.82	\$9,523.80	\$105.80	\$9,522.00	\$109.07	\$9,816.30	\$104.23	\$9,380.70	\$111.30	\$10,017.00	\$109.80	\$9,882.00	\$112.00	\$10,080.00
CE285A	62	\$44.50	\$2,759.00	\$48.00	\$2,976.00	\$46.75	\$2,898.50	\$45.00	\$2,790.00	\$49.25	\$3,053.50	\$44.17	\$2,738.54	\$49.00	\$3,038.00	\$48.51	\$3,007.62	\$51.78	\$3,210.36	\$51.08	\$3,166.96	\$53.00	\$3,286.00
CE255X	60	\$153.00	\$9,180.00	\$143.00	\$8,580.00	\$155.00	\$9,300.00	\$152.00	\$9,120.00	\$163.37	\$9,802.20	\$163.35	\$9,801.00	\$163.35	\$9,801.00	\$160.93	\$9,655.80	\$171.84	\$10,310.40	\$169.53	\$10,171.80	\$173.00	\$10,380.00
Q7582A	55	\$130.30	\$7,166.50	\$83.00	\$4,565.00	\$129.25	\$7,108.75	\$80.00	\$4,400.00	\$136.10	\$7,485.50	\$136.08	\$7,484.40	\$140.29	\$7,715.95	\$140.16	\$7,708.80	\$143.14	\$7,872.70	\$141.23	\$7,767.65	\$144.00	\$7,920.00
CE413A	54	\$78.00	\$4,212.00	\$83.90	\$4,530.60	\$83.00	\$4,482.00	\$80.00	\$4,320.00	\$87.38	\$4,718.52	\$87.36	\$4,717.44	\$86.88	\$4,691.52	\$86.07	\$4,647.78	\$91.90	\$4,962.60	\$90.67	\$4,896.18	\$94.00	\$5,076.00
CE411A	54	\$78.00	\$4,212.00	\$83.90	\$4,530.60	\$83.00	\$4,482.00	\$82.00	\$4,428.00	\$87.38	\$4,718.52	\$87.36	\$4,717.44	\$86.88	\$4,691.52	\$86.07	\$4,647.78	\$91.90	\$4,962.60	\$90.67	\$4,896.18	\$94.00	\$5,076.00
CE412A	53	\$78.00	\$4,134.00	\$83.90	\$4,446.70	\$83.00	\$4,399.00	\$84.00	\$4,452.00	\$87.38	\$4,631.14	\$87.36	\$4,630.08	\$86.88	\$4,604.64	\$86.07	\$4,561.71	\$91.90	\$4,870.70	\$90.67	\$4,805.51	\$94.00	\$4,982.00
CE410A	51	\$56.70	\$2,891.70	\$62.00	\$3,162.00	\$58.25	\$2,970.75	\$64.00	\$3,264.00	\$61.34	\$3,128.34	\$61.32	\$3,127.32	\$61.25	\$3,123.75	\$60.41	\$3,080.91	\$64.52	\$3,290.52	\$63.64	\$3,245.64	\$66.00	\$3,366.00
CF280X	40	\$117.00	\$4,680.00	\$125.00	\$5,000.00	\$122.75	\$4,910.00	\$125.00	\$5,000.00	\$129.24	\$5,169.60	\$118.71	\$4,748.40	\$129.00	\$5,160.00	\$127.45	\$5,098.00	\$135.93	\$5,437.20	\$134.11	\$5,364.40	\$137.00	\$5,480.00
Q5945A	37	\$156.25	\$5,781.25	\$159.00	\$5,883.00	\$154.00	\$5,698.00	\$140.00	\$5,180.00	\$162.79	\$6,023.23	\$162.78	\$6,022.86	\$166.10	\$6,145.70	\$160.00	\$5,920.00	\$171.23	\$6,335.51	\$168.94	\$6,250.78	\$173.00	\$6,401.00
CE252A	36	\$174.00	\$6,264.00	\$167.00	\$6,012.00	\$181.00	\$6,516.00	\$165.00	\$5,940.00	\$190.57	\$6,860.52	\$190.55	\$6,859.80	\$190.00	\$6,840.00	\$187.22	\$6,739.92	\$200.45	\$7,216.20	\$197.77	\$7,119.72	\$202.00	\$7,272.00
CE251A	34	\$174.00	\$5,916.00	\$167.00	\$5,678.00	\$181.00	\$6,154.00	\$165.00	\$5,610.00	\$190.57	\$6,479.38	\$190.55	\$6,478.70	\$190.00	\$6,460.00	\$187.22	\$6,365.48	\$200.45	\$6,815.30	\$197.77	\$6,724.18	\$202.00	\$6,868.00
CE253A	33	\$174.00	\$5,742.00	\$167.00	\$5,511.00	\$181.00	\$5,973.00	\$162.00	\$5,346.00	\$190.57	\$6,288.81	\$190.55	\$6,288.15	\$190.00	\$6,270.00	\$187.22	\$6,178.26	\$200.45	\$6,614.85	\$197.77	\$6,526.41	\$202.00	\$6,666.00
CF280A	30	\$66.00	\$1,980.00	\$78.00	\$2,340.00	\$71.25	\$2,137.50	\$74.00	\$2,220.00	\$75.08	\$2,252.40	\$75.06	\$2,251.80	\$75.00	\$2,250.00	\$77.31	\$2,319.30	\$78.96	\$2,368.80	\$77.90	\$2,337.00	\$80.00	\$2,400.00
Q2612A	30	\$45.40	\$1,362.00	\$52.00	\$1,560.00	\$51.25	\$1,537.50	\$52.00	\$1,560.00	\$54.00	\$1,620.00	\$48.12	\$1,443.60	\$50.00	\$1,500.00	\$55.60	\$1,668.00	\$56.78	\$1,703.40	\$56.03	\$1,680.90	\$59.00	\$1,770.00
CE410X	30	\$59.00	\$1,770.00	\$74.00	\$2,220.00	\$71.50	\$2,145.00	\$74.00	\$2,220.00	\$75.34	\$2,260.20	\$75.32	\$2,259.60	\$74.91	\$2,247.30	\$74.28	\$2,228.40	\$79.24	\$2,377.20	\$78.17	\$2,345.10	\$82.00	\$2,460.00
Q7551X	28	\$161.00	\$4,508.00	\$139.00	\$3,892.00	\$165.00	\$4,620.00	\$140.00	\$3,920.00	\$173.75	\$4,865.00	\$173.72	\$4,864.16	\$173.70	\$4,863.60	\$171.00	\$4,788.00	\$182.75	\$5,117.00	\$180.30	\$5,048.40	\$184.00	\$5,152.00
CE250X	25	\$125.00	\$3,125.00	\$129.00	\$3,225.00	\$133.75	\$3,343.75	\$131.00	\$3,275.00	\$140.83	\$3,520.75	\$140.81	\$3,520.25	\$139.00	\$3,475.00	\$139.88	\$3,497.00	\$148.12	\$3,703.00	\$146.15	\$3,653.75	\$149.00	\$3,725.00
Q7581A	25	\$130.30	\$3,257.50	\$83.00	\$2,075.00	\$129.25	\$3,231.25	\$70.00	\$1,750.00	\$136.10	\$3,402.50	\$136.08	\$3,402.00	\$140.29	\$3,507.25	\$138.88	\$3,472.00	\$143.14	\$3,578.50	\$141.23	\$3,530.75	\$145.00	\$3,625.00
Q7553A	23	\$62.50	\$1,437.50	\$72.00	\$1,656.00	\$67.25	\$1,546.75	\$74.00	\$1,702.00	\$70.80	\$1,628.40	\$68.91	\$1,584.93	\$70.78	\$1,627.94	\$69.74	\$1,604.02	\$74.98	\$1,724.54	\$73.46	\$1,689.58	\$77.00	\$1,771.00
Q7583A	23	\$130.30	\$2,996.90	\$83.00	\$1,909.00	\$129.25	\$2,972.75	\$70.00	\$1,610.00	\$136.10	\$3,130.30	\$136.08	\$3,129.84	\$140.29	\$3,226.67	\$138.88	\$3,194.24	\$143.14	\$3,292.22	\$142.62	\$3,280.26	\$145.00	\$3,335.00
Q7551A	20	\$96.00	\$1,920.00	\$103.00	\$2,060.00	\$95.00	\$1,900.00	\$104.00	\$2,080.00	\$99.94	\$1,998.80	\$99.92	\$1,998.40	\$99.92	\$1,998.40	\$98.10	\$1,962.00	\$105.11	\$2,102.20	\$103.70	\$2,074.00	\$107.00	\$2,140.00
CE250A	20	\$91.00	\$1,820.00	\$98.00	\$1,960.00	\$92.00	\$1,840.00	\$106.00	\$2,120.00	\$97.07	\$1,941.40	\$97.05	\$1,941.00	\$95.00	\$1,900.00	\$99.96	\$1,999.20	\$102.09	\$2,041.80	\$100.73	\$2,014.60	\$105.00	\$2,100.00
Q1338A	20	\$123.00	\$2,460.00	\$125.00	\$2,500.00	\$124.00	\$2,480.00	\$90.00	\$1,800.00	\$130.33	\$2,606.60	\$130.31	\$2,606.20	\$127.00	\$2,540.00	\$128.00	\$2,560.00	\$137.08	\$2,741.60	\$135.24	\$2,704.80	\$140.00	\$2,800.00
CE255A	20	\$100.85	\$2,017.00	\$108.00	\$2,160.00	\$100.00	\$2,000.00	\$111.00	\$2,220.00	\$105.07	\$2,101.40	\$105.05	\$2,101.00	\$104.00	\$2,080.00	\$103.49	\$2,069.80	\$110.51	\$2,210.20	\$109.03	\$2,180.60	\$112.00	\$2,240.00
CF287A	20	\$141.00	\$2,820.00	\$170.00	\$3,400.00	\$157.50	\$3,150.00	\$190.00	\$3,800.00	\$165.81	\$3,316.20	\$154.55	\$3,091.00	\$150.97	\$3,019.40	\$157.70	\$3,154.00	\$162.58	\$3,251.60	\$173.44	\$3,468.80	\$223.00	\$4,460.00
Q7553X	18	\$103.00	\$1,854.00	\$120.00	\$2,160.00	\$119.50	\$2,151.00	\$90.00	\$1,620.00	\$125.94	\$2,266.92	\$124.73	\$2,245.14	\$125.92	\$2,266.56	\$124.00	\$2,232.00	\$132.45	\$2,384.10	\$130.69	\$2,352.42	\$136.00	\$2,448.00
Q6472A	15	\$103.00	\$1,545.00	\$112.00	\$1,680.00	\$110.00	\$1,650.00	\$110.00	\$1,650.00	\$116.01	\$1,740.15	\$115.99	\$1,739.85	\$115.99	\$1,739.85	\$119.47	\$1,792.05	\$122.02	\$1,830.30	\$120.38	\$1,805.70	\$124.00	\$1,860.00
Q6471A	13	\$103.00	\$1,339.00	\$112.00	\$1,456.00	\$110.00	\$1,430.00	\$112.00	\$1,456.00	\$116.01	\$1,508.13	\$115.99	\$1,507.87	\$115.99	\$1,507.87	\$115.42	\$1,500.46	\$122.02	\$1,586.26	\$120.38	\$1,564.94	\$124.00	\$1,612.00
Q6473A	11	\$103.00	\$1,133.00	\$112.00	\$1,232.00	\$110.00	\$1,210.00	\$113.00	\$1,243.00	\$116.01	\$1,276.11	\$115.99	\$1,275.89	\$115.99	\$1,275.89	\$119.47	\$1,314.17	\$122.02	\$1,342.22	\$120.38	\$1,324.18	\$124.00	\$1,364.00
CB436X	10	\$45.00	\$450.00	\$55.00	\$550.00	\$54.00	\$540.00	\$60.00	\$600.00	\$60.11	\$601.10	\$53.98	\$539.80	\$53.98	\$539.80	\$55.04	\$550.40	\$56.78	\$567.80	\$62.53	\$625.30	\$60.00	\$600.00
CF287X	10	\$190.00	\$1,900.00	\$215.00	\$2,150.00	\$198.50	\$1,985.00	\$260.00	\$2,600.00	\$209.02	\$2,090.20	\$188.10	\$1,881.00	\$209.00	\$2,090.00	\$212.12	\$2,121.20	\$219.87	\$2,198.70	\$216.91	\$2,169.10	\$225.00	\$2,250.00
Q2612AD	7	\$89.00	\$623.00	\$104.00	\$728.00	\$95.25	\$666.75	\$120.00	\$840.00	\$100.28	\$701.96	\$82.03	\$574.21	\$101.00	\$707.00	\$102.00	\$714.00	\$105.46	\$738.22	\$104.06	\$728.42	\$110.00	\$770.00
CB435A	5	\$38.00	\$190.00	\$51.00	\$255.00	\$47.00	\$235.00	\$60.00	\$300.00	\$52.29	\$261.45	\$47.44	\$237.20	\$49.61	\$248.05	\$51.00	\$255.00	\$52.19	\$260.95	\$54.23	\$271.15	\$59.00	\$295.00
Grand Total For Net Price	ing	\$205,9	990.35	\$210,4	102.90	\$210,	549.25	\$212,	956.00	\$221,	787.13	\$220,	132.97	\$220,	141.96	\$222,	059.60	\$232,	977.75	\$234,	026.66	\$236,	950.00
Percentage Discount Off HP OEM Li Cartridges	aser Jet	47.0	00%	41.0	00%	44.	00%	41.	00%	40.1	00%	39	05%	40.	00%	45.	00%	46.	80%	10.	.00%	36.	.00%
Percentage Discount Off HP OEM In Cartridges	ık Jet	42.0	00%	35.0	00%	36.	00%	33.	00%	30.0	00%	30	05%	33.	00%	38.	00%	38.5	50%	10.	.00%	29.	.00%

Lead Time After Receipt Of Order (Delivery for both Line Item and % Discount)	1-3 Days	1-3 Days	1-3 Days	2-3 Days	2 Days	1-5 Business Days ARO	3-4 Days	Next Day	1-3 Days	1-10 Days	1-3 Days
Notes	Awarded to lowest bid.										